Cheat Sheet OneCo

http://drorbn.net/AcademicPensieve/2015-04/
initiated 14/4/15; modified 4/5/15, 9:16am; continued 2015-05

—ady
Background. de” =¢” - (57// ) ( oy
The differential of y = bch(a ﬂ)

1 —e3dy ( //

5/ ady
Models. e In [x,y] = ox, x f (y)
[x, fO)] = 61" ()x. ,
o In[x,y] = 6x+ 2% xf(y) = f(y + Ox + 5(f(y + )
=0, [x, fO)] = 61 ()x + 22 (7).
o If S, = Y} AKCB "7 then AS,
S, =(Ls—-Rp)'(A"C — CB").
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ady )

—ada l_e—ad,B
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= fy +6)x. If 6% = 0,

- fOo). If

-S,B = A"C - CB" so

o If Yy(x) = anoanxn then Zn>0an Z" 1bn( b)n—l—k —

W(b) — y(=b))/2b.

Deriving Gassner.  £*” is Q[bi]{a;;) modulo locality,

laij,au] = O, [aw,ap)] = —laijap]l = bjax — biajy, and

laij,a;]] = biaji — bja;;. Acts on V. = Q[b;i]{x; = aiw) by

laij,x] = 0, [aij,x;] = bixj — bjx;. Hence e™%x; = x,

eadai-fXj = eh,-xj + Z_f(l _ ebi)xi‘ Renaming y; = xi/bi, f = eb",
. 1 1-4

get [eada"’]yi,yj - (0 ti l).

The £2P" Adjoint representation. ¢*!%/ acts by

b

—b: k —b;

ax & ag, ajx & ik, axj e lagj + E(l - e Najj,
1
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agi & ag; + (1 —e_bi)akj+bk b
i

b b
b; J b; b; J b;
ajk|—>e’ajk+g(l—e’)a,~k, aji|—>e’aﬁ+—_(1—e’)aij.
i b;

Adjoint Gassner. Renaming «;; = a;;/b; and t; = ebi , get
ayj - ti_lozkj +(1- tl-_l)ozij,
agi > agi + (1= Dag + @ = Day;
aj o L + (1 = ag,  aji - taj + (1 - 1)a;;.

Implementation/verification: pensieve://2015-04/nb/ZeroCo.pdf.
Interpretation: zr-Artin?

2Dv. b: bracket trace; c¢: cobracket trace; (b, c)
degb; = degcj = dega;; = degd = 1.

AP is QSNFAb:, cjyaij) (so LY = {f + fYa;;}) modulo local-
ity, [aij, ai] = craij — cjaik, laix, ajx] = bjaix — biajk, [aij, aj] =
(¢j = bpai + biaj — craij, laij, ail =7, [aij, bil = —laij,bj] =
—laij, ¢il = laij, ¢jl = baij — bic;, [bi,cj] =0

=0€{0,1}

bic;
Clijf = f(saij - %(f& - 1), [aijvf] — (f6 - (aij B
with 0= £ (2 )

Then [a;j, f + f*ei]
State Diagrams. ad q;; yields

ofaj

so with ¢g = ¢(0), ¢1 = ¢, and ¢ (x) :=

To do. e Perhaps I
v is a perturbation of w. e Position FiC. e Position the 2D Lie

bl‘Cj
6 b

ci—¢i—0 cj—Cj+0

The Ascending Algebra A>P". Same but with only a;;, i < j.
The primitivity condition. ker ( f+ flia; i of + fibic j). (Ig-
noring multiple arrows).
The OneCo Quotient is 5>

= 5C,‘ =CjiCk = 0, so

L' ={(f + fle) + (f7 + feai; + 5 f Maija:

£ 17 € QU bills £, £, 74 € Qlibill).
= 0if = 0;f — ' + f))(Saij — bic)).

yellow: roots. pink: wrong.
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Craij < ik oa;jaik

R b
=bi akj— aij

(6(x) = o)/ x, ¢(ad a;j)

fei ¢ofci + (bigy (=b) — ¢1)dfaij + bip (=b)) fc;
fejm ¢(=b)fcj+ ¢ (=bi)dfaij
o dof +bid (=bi);f —0if)c;
+ (bigy (=bi) — 1), f — 0if)daij
oa.. — as in Adjoint Gassner
ai = ¢oaix + prcraij — ¢ (=bi)cjai — ¢y (=bi)dajjaix
ajx = ¢bi)aje — (P (bi) + b, (bi))craij — bjd (bi)aix
¢(b) ¢(=bi) + bj(¢ (D) — ¢ (=Di))

2b; €tk
¢1(bi) — ¢ (=bi) + bj(¢11(bi) — ¢ (=by))
+ 6al~ja,~k
2b;
agj —
aijj — aij

should find a way to highlight the fact that

bialgebras.
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Recycling.
+
dj — Cra;j

. L +
@jaik — dajaik



